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ENGLISH VERSION

Instruction : Figures to the right indicate full marks.

1 (@

(b)

1 (a)

(b)
D-35308]

Following information is available related to Mehta 10
Chemicals Ltd. :

Equity share capital (Each of Rs. 10) ..... 10,00,000

11% Preference share (Each of Rs. 100) ... 2,00,000
Reserves and surplus ......ccccvevvvevvivnineeienennn, 18,00,000

15% debentures (Each of Rs. 100) ........... 20,00,000

Expected rate of dividend on equity share next year is 20%
company's earnings growth is 10% current market price
of equity share is rate Rs. 25 cost of retained earnings is
3% less than the cost of equity capital current market price
of preference shares and debentures are Rs. 60 and
Rs. 69. Tax bracket applicable to company is 60% on the
basis of following calculate average cost of capital :

(1) Book value weights
(2) Market value weights.
Expiain the concept of financial leverage. Why it is 10
treated as "T'wo sided sword" ?
OR
(1) One company's 10 years debenture sold at Rs. 90 3

each face value of debenture is Rs. 100. Interest rate
is 8%. Tax rate applicable to company is 50%.
Calculate after tax cost of debt.

(2) One company raises 10% preference share capital 3

perpetually. Face value of preference share is
Rs. 100, but its value is Rs. 95, then what will be
the cost of this issue ?

(3) Current market price of a share is Rs. 90. Next 4

year expected dividend is Rs. 4.50 per shave. If
‘dividend expected to grow at 7% then what will be
cost of capital of equity share.

What is financial management ? What are its 10

main functions ?
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2 (a)
loss A/C of amar trading

Following is the Balance-sheet and profit and 10

Co.Ltd.

Balance sheet - as on 31-3-2013

Liabilities Amount | Assets Amount
Equity share capital Fixed assets 14,00,000
(each share of Rs.10) 10,00,000 { Current assets 11,00,000
10% Debentures 8,00,000
Reserves & Surplus 5,00,000
Current liability 2,00,000

25,00,000 25,00,000

Profit & T.oss Alc for the year

ending 31.3.2013

.............................. 4,560,000

Operation expenses (out of which Rs. 90,000

is of depreciation) ..........
Operating profit (KBIT)....
Inferest .covriviiieiiiiieecen,
Profit before Tax (EBT) ..
Taxes @ 50% .......................
Net Profit .......ccovoveiiiiinnns

)

.............................. 2,20,000
.............................. 1,10,000

.............................. 1,10,000

From the above information calculate operating

levarage, financial leverage and combined leverage
Assume that all the operating expenses except
depreciation are variable.

(2) If total assets remains same and sales is increases
or decreases by 25% then what will be earning per

share ?
(b) Write a note on Traditional approach of capital structure. 10
OR
2 (a) Financial Leverage is useful to Finance Manager". 10
Explain it.
” (b)erte difference between : 10
(1) Marginal cost of capital and Historical cost of
capital.
(2) Specific cost and combined cost.
D-35308] 6 [Contd...



3 (a) From the following details calculate equilibrium value 10

and equity capitalization rate of company Ram and company
Shyam. Assume that (1) There is no income tax and
(2) Equilibrium rate of avg. cost of capital is 8.5%.

Ram Shyam

Total Market value 250 300
Debt 0 150
Market value of Equity 250 150
Net Operating Income 25 25
Interest 0 9
Net Income for Equity shareholder 25 16
Equity cost of capital (k,) 10% 10.7%
Leverage 0 0.5
Average cost of capital 10%  © 8.33%
() Write a note on : 10
(1) Profit Maximization (2) Wealth Maximization. -
OR
3 (a) Company Ram and company Lakhan is similar in = 10

all things except company Ram is not using leverage
while company Lakhan is using leverage in its
capital structure. Co. Lakhan has 10% Debentures of
Rs. 5,00,000. Value of both the company according to
Net income approach is as under :

Ram Shyam
Net Operating income (EBIT) 1,50,000 1,50,000

Interest on debenture - 50,000
Net Income for Eq. shareholders 1,50,000 1,060,000
Equity capitalisation Rate (k) 0.125 0.14
Market value of Equity 12,00,000 7,14,286
Market value of Debenture - 5,00,000
Value of Firm 12,00,000 12,14,286
Overall cost of capital (k) 12.50% 12.35%
Debt - Equity Ratio 0 0.8

(@ “An investor Ravan holds 10% Equity shares of
Lakhan company. How can he reduce his investment
by engaging in personal leverage ?

() According to M.M. approach when arbitrage.

() Write the stages of Capital budgeting. 10
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4 (a)

following details are available for Bharat Ltd. 10
Earning per share Rs.10

Capitalisation rate is 10%

Rate of return 15%

If the rate of dividend is 20%, 0%, 50%, 60% and 80%
calculate the market value of share as per Walter's model.

(b) Write note on Pay back method couth example. 10
OR

4 (a) What is dividend policy ? Write about Gorden's 10
dividend model.

(b) Give definition of working capital. Explain the 10
factors affecting working capital.
5 - (@ A Co. has an investment oppotunity in which 10
investment of Rs.40,000 required. Expected Net cash flow
from it (after tax but before depreciation) is as follows :
Year C.F, Year C.F.
1 7,000 6 8,000
2 7,000 7 10,0600
3 7,000 8 15,000
4 7,000 9 10,000
5 7,600 10 4,000

Calculate the following assuming discount rate 10%
(1) Investment back period.
)] NPV at 10% discount rate
(3)  Profitability Index at 10% discount rate
(4)  Internal Rate of Return by using 10% and

15% discount rates.
Present value :
Year 1 2 3 4 5 6 7 ] 9 10

10% | 0.909 | 0.826 | 0.7561 | 0.683 | 0.621 | 0.564 | 0.5613 | 0.467 | 0.424 | 0.386

156% | 0.870 | 0.756 | 0.6568 | 0.572 | 0.497 | 0.432 | 0.376 | 0.327 | 0.284 | 0.247

(b)
5 (a)

(b)
D-35308]

Discuss the factors determining cash flow. 10
OR

Write the ABC Method of inventory control. 10

Write a note on forms of dividend. 10
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